o)\ &

R T U ART 55 7] AR
mzﬁj\ fﬁl:@_ﬁéﬁ
oy AR LA

1E =22 A
AN — R, 28, |8

|

WERR — AR, HE (H)
AT — ABkRiE: REE

Kb

# 5

—
—
—




i

il

RS

o )\

nw

25 8] B £f
JARFRE M =R &I

Zil

-

-

A

Page =

A~

I A B

] A\

| B Ltz

A

=R,

ATR 2R

raY
SIS

SRS

m
il

- B

ClOI®
IO
TR ORE ER




—. A=
& BEA KN, BT RPEMNFE (XK E).
TRtk BIRAKE M M, a, N a.

VR . BRI, BAEMA,), B3, Blal.
i SR AT R, .
A B | MR, fE e, 2
1

FaE: BN 0 IR, 1846 0,500,

S '|_‘~ .' '.4 ll '. P—.' '.L.' '. X II
EES D




et

A7 5 /MBS, JTAME, WK E 5 6%,

iCfEG=05;

EHE 7S 6 AMEEAR, W75 547, 18 4E
a2/ b e Fa R S a8 AT ;

5 a WRARTE, (B 5 AR R I T 2508 @ 5 R =,
ieE—a.

K PAT & A PR R [F — B2k L, WO A& A7 3LRR
PN AR

1 A ()N mEs PR RIE L, WFR £
AN e) B AR

Page= 4

nlalelo
O101C1O

A dbh dDh A
Ept P IR

u'xl
ZEBR

m
il




IR TEIR

1. [ & RV .
L’/f—f)l' jjﬁ//jﬁ _________ (24_2)4_—6’ Z _)C’
l)_I\IJ: 5/24—2)/1/ Z_l_ (Z)—'_?) ‘C
Y it Z ' —’_I_Z_I_—> Z B
—HiEENE y o 4 b
a+b _
;/b a
Z —
EHMEE B Grb=b+a

otk (a+b)+c=a+(b+c)=a+b+c

= MR A HE] 2 2 A R = A

raararxraary
Page® 5 SV IO
: ER FR R SR

m
il




ER T

S:dl+d2+d3 +d4+d5

e R

(N

Page® 6




2. [F] & R

b—a=b+(-a)

—_ - -

—

a—-a=a+(-a)=0

=
a+b

—>
—>

a—2>

IN

IN

O—a

S
7
i o
j/ D a
—_
a
S10]010]10
Hx Epl T RE  HR




3. M E S HHIRIA

Ae— N, A5 RIS — 1 A&, idfEda.

WE A > 0ft, A @ 5 A A, — 1
A < OB, )Ld'?dfi&,
A=00], La= 0.
Sl La=La
EHEA . ge Mua)=p(la)=Aua
R AH+we=Aa+tua

%27&6, A HA7 mﬁe 1 a it

Ma+b)=Ad+1b

QY
I
Q)

Page=8

=0
20
20




e

EH1. W N EZRE, N
a/h —— b=Aa (A JyME— 524

ks “—". mcz//b B A — i——— Z 5 A A B L

a

RIS, W 45 Aq R, A
b

.
dl

ha|=|a|a|=-=|a|=[5

L
W o=La.

FRIESL A MM —E . W XE b=pa, W (A-p)a=0
M al#0, MA-—pu=0,E1=pn.

O]O0JC1010

LR T T

m
il




« 2 BA—21a, M
BA=0H 70 W
L A>00, 7,6 f—=a/b
MA<OR], 7,5 XA
1. qujﬂABCDXTﬁa%%B’J/y:'E AB="0, AD="5,
R a5 b FRR MA, MB, MC, MD.
s G+b=AC =2 MC =2 MA D C

b—a=BD=2MD=-2MPB M

. MA=-\(a+b) MB=-1(b-a)? a B
MC=(a+b) MD=(b-a)

<

O]O0JC1010

ragel il T

m
il




IR,

= 6] B A A
1. [ HAHA

o

— 5 T 0

AR 22

— 2% H iHE

ABR 22 H)FE AN &

REN-REEHE YRS

QHEBZ~/\/* |B] B A AL AR

[ ] [ ]
||>~ ||>~ ||>~

AR i
A*Tﬁh

VAR

e

= L]

Z z FICR)




EEALIRR T

BM S HRERA Gy, 2) e—> A& 7

(K 5 A7 (14 H7)
RETK S HIARAR

JREL (0,0,0); Aekrfh EWIA P O, R;
AR A 4, B, C

£(0,0, z)

Page = 12




AABRTH

vOzIl < xy=0

Page = 13

L[>~

AR
2 :O
i o < j_o
= —
Y > < O
x:




J

2. 7]

=
=E|

(174

AFRIR N

EEEEALRR T, EEHE 7 7]
L7, 7, k5 A3RoR x, p, 2 B E

PIAR KRN M (x, v, 2), N
OM = ON + NM = OAd+ OB+ OC ‘ \M

A HR AN F =

/)1 AN A

OA/:JU'

7
OB = )//, OC=zk
7 J/
e A/.f--.\.

=x7+yj+zk —(1 1 7

7 AL BRI A 2 x7y7,zk$d\7'7ﬁ£ 7
AR FRE T M FE, X, p,z MR 7 A

1142 OM FE7,
RVACIE=- s A=W 74

Page = 14

C'h-

—>

k —>

\L/

L>~
%‘l—
=




JU. N FH AR ARAE ) ) e 1B 5

W 7= (ay.a,.a.), 6=(b:.5,,6,), 1 F9s=H, M)
dtb=(a,%b,,a,tba N

ra=Aa,,Aa,,Aa,)

SEAT 1) B N AR A A B AR -
M7= 0 B, %5 8
blld—— b-la P .
.5 & o7
dx ély dz

S SO
g iE: T




2. SKAE LA IR 2N AR R TG 2t 7 P22
Sxy—3p=a (0
{3}’—27:2 @
H 7= 0,1,0, b= (-1,1,-D.
#: 2XQO —3X0Q, 15
¥=23-36=(7,-1,10)

RAQE
}:i(s}’—Z) = (11,-2,16)

-]
Page = 16 S




BI3. SRR A, 1,2), 8%, 1 ,2,) SEHAL -1,

B B MK R (x, v, 2), W E
AM = ). MB

AM = OM - 04

MB=08-OM

O — O — 2(OB— OM)

15 OM——(OA+), OF)

TEABFTEE L ESR— 5 M, AM =2 MB.

o

A

B

Page = 17

M
10101018
B 0 R T s o =

m
il




R 1
(X,)/,Z) = m (xl +Ax2 > M +A)/2 i +2,22)
Bt Rz A
1+4 1+4 2 i

:4+A@

Z

7
1+ A A
AA=1, 5 M N ABWH S T RAE \
5
R

FRAI:

’Xl_l_'xz J/1+)/2 Zl+22
X = 2 o )/: 2 : e 2

ra) Y Y
SV IO

i e

m
il
=]




. RIERER. THA 1K
1. [a) B RIS P A R 2 3
W 7=(x,p,2), 1E OM = 7, WIH

7= OM = 0P+0Q+0]€
) i S

7=|oM| = | 0PF +|00F +| ORI = |2 + 12 + 7
X R A, ,2) 58(x0,0h,2), [ /B
AB=0B-0A=(% -, ), - .25, —7)

19 P L TE] 1 PR A 2

AB = 4B = \/(xz _Xl)z + (7 —J/l)z + (2 _21)2

rararararc
SV IO
B 0 R T s o =

A

Page = 19

m
il




3

14, SKAEVL A, (4,3,1),04,(7,1,2), M5(5,2,3) T

K==

uk:

LE=MA .

MMy = (T-97 +(1=-3)?+(2-1)* =14

M2M3=J(5—7)2+(2—1)2+(3—2)2 =/6

MM =] (5-4% +(2-3)>+(3-1)* =6
3 M2M3 2/1/1/1/3 /][l 1M3
Rl A MMMy NFRE= T \M
2

raaraaryT\raary
Page = 20 SV IO
EE TR OB




3

%15, 7£ z 4 ER 50 54(-4,1,7) & B(3,5,-2) %k

B

s Wiz RN M(0,0,2), KA

MA= M5,

V()2 +12+ (7= 2)? =/32+ 524 (2-2)
i 2= 14, OISR M £(0,0,14).

R
(1) GiAr] K AE xOp

——

f

F 54, BEREZ ST TTRE?

(2) tnfa SRR 54, B 55303 2 KB TR 2

ralIrary\rary
OJOJC1O1O

i S e O AT

m
il




AN
(1) &8 SN M (x, v,0), 5
14x+8p+28=0, |

| | M4 =\MB, 15
Hoz=0

(2) BB SN M(x, v, 2), F

1\MA=MB, 13

Tx+4y-9z+14=0

6. CLAIP R A4(4,0,5) 81 B(7
AR 1

1,3),3RABII BN A B 8.

ﬁﬁyli: _g): g :3,1,_2
— m( )
:( 3 1 —2)
J14° V14 J14
E ololclele




3

2. 7 5T IR 3% _»

WHEMEZ R 7,6, FRER— & 0, 1E04=a,

OB=06 % ¢ =408 (0< o<1 ) AT a,b6KIFM.
ANy

FHE(Z, Bymg

a)=¢ <4
KA SR S, WS s . O

BT =1 0,2) %0, R 75 SRR fa, B,y

HEI . .
75 T I AL 3 T IR Wb
X il = ;
COSX = — - ‘

7l AR

Ol
0
)
20

Page = 23




7 \/xz—l—y —|—22 . =
cosfB & — : yz : %)'B -
L \/x + Y 4z .
z z
cos;/_T
" \/x —I—y =
A ASE IR cos® a +cos” B+cos”y =1
[A) 5 7 BV [
z = - (cosct,cos 3,co8y)
7

O]O0JC1010

Tagen2d TR TR EE ZR

m
il




3

BT, CRIP M (2,2,72) 1 A7,(1,3,0), HE =

MMy WK ISR ER A

e MM, =(1-2 3 2 (1 Ng

=(-1,1,-+2)
MMy|= (12 +12 +(—2) =
cosQ - cos 3 - COS ——ﬁ
n '
2n T 3n
aziy o S —
3 . 3 . 4

r.lr.\
Page " 25 uﬁ_% u‘




3
D18, 2 A B T 55— EN, 4% OF 5 x Bl B 3%
ﬁmijwaog 6,5 55 A HIALAR

7. _T a0
fift: O a 3,,3 v |

coszy =1—cosza—coszﬁ =

l
4
K L AR — R Eﬂzcosy— S

o4=04e,, =6(cosa,cosﬁ,cosy)
1 V2 1)
2 25

WU, 4 AR N (3,342, 3).

Ol = (3,342,3)

Page = 26




3. A EfEH BRI
Wa5 ufiERPIRA N,

R 7758 « FROIREN | 7leoso u
iefE Prj,, 2 8 (a), | A
(@), = cose Z

B, a=(a,,a,,a )T LRI 00N aysa s a,

e -ANREN
EE ()

2) “ (ANSEE)

Page = 27




}
B19. WL TR — %N I oM, — % 04, B

OA = a, 3K 04 1 OM 5 15 _E 3.

. M
fif: WIS, 18 2 MOA= o, 7
Cosp = L s
oM 3 DN
0O a A4
Pri= OA=| OA cosg :j%

Page = 28




